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Question Number : 1 Question Id : 813561801 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
1 -1 «x
Ifl1 x 1 |hasnoinverse. then the real value of x 1s
¥ =% 3
1 =1 =x
Ards |1 x 1] 5 DS ArHS G0, 900D, X DLV
S T |
Options:
PR -
2. % 3
3% 0
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4.v 1

Question Number : 2 Question Id : 813561802 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

— 2153

The locus of z satisfying

z—21

zZ—i l

zz__;,‘ = 2 20 RoByDOGE 2 INE), DoEINEIND
Options:
Hyperbola

1 % 930U 000

Circle

2, o R

Straight line

3 x NO¥ O

Ellipse

n BGDyBHa0

Question Number : 3 Question Id : 813561803 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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. 1\
For how many natural numbers ‘n’ such that 1 < n < 2021 1s (;) =11

1+i\" 2 _
1<n<2021, (;) =1 A0 &) DS '’ AWE); eSO Dod?
Options:
504

1. %

, o 505

. 006

4 % 503

Question Number : 4 Question Id : 813561804 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:
Vertical

Find the value of ‘p’ and ‘q" if the function f(t) = t* — 6t* + pt + q defined on [1, 3]

- . . 2V3+1
satisfies the Rolle's theorem for ¢ = 7

23+1
V3

[1,3] 2 oDoserdd f(t) =3 —6t% + pt + g HADAW ¢ = 36 8¢
o = 5

bg‘u@“ﬁl Do ‘P’ B ‘¢ © Dewdew

Options:

, x PER, q=11
L 1), g ER
3"
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PER, gER

=11, ¢ =11
4.8 P g

Question Number : 5 Question Id : 813561805 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The domain of /x| — x is

Vx| = x ciwg) D&%

Options:
. x (°.0)

L w (0,0)

3, v G

. B -407

Question Number : 6 Question Id : 813561806 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Let f(x) = cos(ax) + sin(x) be periodic. Then a must be

f(x) = cos(ax) + sin(x) DKW €256 HAOODAND. a Qo

Options:
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Irrational
| % SOsos

Rational

, o ©SOE0H

Positive real number

L OTEYS TRD Doy

Negative real number

| 2ETS) S T°RD Doy
4, ® 5

Question Number : 7 Question Id : 813561807 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Let ABCDEF be a regular hexagon with the vertices A, B,C, D, E, F counterclock-wise. Then the
vector AB + AF + CD + EF 15 equal to

ABCDEF goiacioyz8 4,8,C,D,E, F w0 eidioady 686" 3gwes wawd, AB + AF + (D + EF =

Options:

. » DE +FA

, « CB+ED
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Question Number : 8 Question Id : 813561808 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If the tangent to the curve x¥3 4 y#3 = ¢

v2B 4 y2B = P 5508 tho 28 0\6)8 1-0R) A 96, y-ox) B I6 poy, AB =

Options:
2a

1. 8

meets the x-axis at A and y-axis at B. then AB =

Question Number : 9 Question Id : 813561809 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If the number of rectangles formed on a chess board 1s 1296. then the total number of squares
formed on the chess board is

248 W00 1Y QD) BESBICTD Dot 1296 00, & Y DB
HSUGVA0Y o] Jod?

Options:

1. %

202
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Question Number : 10 Question Id : 813561810 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1+ cos(4x)
- fcot(x) — tan(x)

J' 1+ cos(4x)
cot(x) — tan(x)

Options:
k=—
1. % 8
1
k=—
F .
=3
k=—
3. 8
.
el
4. %

Question Number : 11 Question Id

dx = k cos(4x) + ¢ . then

dx = k cos(4x) + ¢ . 00D

: 813561811 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the circle circumscribing the triangle formed by the straight lines x + y = 6.
2x+y=+4and x + 2y = 5 15 given by

X4y =6.2v+y =4 2B v +2y = 5 p0v0p0S Do\t Sz 838 PSR

Options:

i x24+y24+17x 4+ 19y 4+ 50 =0
2 >, _' "

5 @ ¥ —1fr—1y50 =1

s x ¥ +y*+17x-19y—50 =0

4w BV AT+ 19y - 50=10

Question Number : 12 Question Id : 813561812 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
f x(tan®x) dx =

Options:
2

x tan(x) — log(secx) — = +c
1.¢ ¢

2

xtan(x) + log(secx) — 2 e
2. A
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2
x tan(x) — log(secx) + x? +c
3. %

2
x tan(x) + log(secx) + = 3F
4. % <

Question Number : 13 Question Id : 813561813 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In quadrilateral ABCD. AB =@, BC=b, AD =b —@ if M is the midpoint of BC and N

DM. then 5 AN =

g1z |

1s a point on DM such that DN =

—_—

ABCD weodoyadwe’ AB =7, BC=b, AD =b - 2080w M dockoid) BC aigy,

—

4
D30, N &6 DM o 6 Dotod) S00aso DN = (g) DM ©and. 5 AN =

Options:

1% AC

Question Number : 14 Question Id : 813561814 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The 1mage of the point with position vector ( i4+3j +4 1?) i the plane r - (2 i=j+ E()
+3=01s

7(21 -7 +%)+3=0 dwo q;,gﬁ (143 +4k) 3 08 do Do) HODotdw

VDG,
Options:

; =
. (3,08,.2)
, u (Bi/8y—2)
. x 68,5, 2)

Question Number : 15 Question Id : 813561815 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let f(x) = x° — 9x* 4 29x° 4 54x — 54 suppose f(x) = (x — )" Q(x) where Q(x) is a
polynomial not divisible by (x — a). Then

f(x) = x° = 9x* + 292 + 54x — 54 28030 f(x) = (x — a)" Q(x) DATHAW (x — a)
B Q(x) 2rAoicdTE. 00N

Options:
1 % =% . 8=z
5> % g=3.1mT=1%
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Question Number : 16 Question Id : 813561816 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

2:

If the pairs of straight lines x? — 2pxy — y* = 0 and x% — 2qxy — y? = 0 bisect the angles

between each other. then which of the following 1s correct?

x% — 2pxy — y° = 0 Bt x% — 2qxy —y: =0 G Qi) &) 28T Errod 25
DDADOGER TBRLELIT Gold, B
Options:

. x 1—Pg=0

3, 8 Pg—E=N

3-V_)pq-i-lzﬂ

4, n PA=1

Question Number : 17 Question Id : 813561817 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The line x = m® meets an ellipse 9x* + y* = 9 in the real and distinct points if and only if

v=m? 8 9% +y? =9 AE3T ) DY) TR VooV S VolL) L3S,
DT80 AAVRH
Options:

_— Im| > 1

5 @ Im| <1

3 % lm| > 2

4 % Im| < 2

Question Number : 18 Question Id : 813561818 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The sum of the cubes of three consecutive natural numbers is divisible by

APE) HARD DT :aomsv 208V AW @ 2PNotd IHRIB

Options:
26

1.%
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Question Number : 19 Question Id : 813561819 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
/2
J |sint — cost] dt =
0

Options:

2(V2+ 1)

, ¢ 2(¥2—-1)

Question Number : 20 Question Id : 813561820 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vi+x2—-1

X

) 1s equal to

The derivate of y = Tan™! (

y = Tan - GVE); VDSV
Options:

2
. (@Fx?)
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1

; 2
3 % (1+x°)

- 2
4 2(1 + x°)

Question Number : 21 Question Id : 813561821 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If one of the lines 2x% — xy + by? = 0 passes through the point (=4, —2). then b? =
2x% — xy 4 by? = 0 2rQodd B0es’ 2882 (—4, —2) Do) ot ' b =

Options:

1,% 6

3. % 4

4. % 16

Question Number : 22 Question Id : 813561822 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



OnstiVing =<2 _ihiesolosinn obtainediicr = 36— y) + gl +-e Binde
1o — ' B = —N . -
n solving — eyt ° 1e solution obtamed 1s x = 2(x — y) + log(t) + c. finc
dy x—=y+3 _
2 & Fed x =2(x —y) + log(t WOV, t =
= —— S x =2(x—vy)+log(t)+c
Options:
1'\_?,,.,_"rf—}*+2
2, 8 REF=E
3 % X+y+2
4 % s
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Question Number : 23 Question Id : 813561823 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

f_rzozo('l"an'l x + Cot™1x)dx =

Options:

2021

— (Tan x4 Cot™1x) +c
1, %

2021

(Tan x4+ Cot ™ *x) + ¢

5 & 2021

x2021 . m
3 % 2021 2 g
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Question Number : 24 Question Id : 813561824 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

v‘.?.

What is the coefficient of — in (x 4+ y) >, when

y
— < 17
x8 xl !

3
< 1eond (x+y)° DG5S {E A0S, EISAN

X

Options:
1, o

2. % —30
3. % —23

4. % 10

Question Number : 25 Question Id : 813561825 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) = x* — x® + 7x? + 14. then what is the value of f”(5)?

F(xX)=x* —x® +7x% + 14 and. f''(5) dewd dwdd.

Options:

. u 842
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Question Number : 26 Question Id : 813561826 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Llll} ((_l X) tan( > )) =

Options:

::]lm

Question Number : 27 Question Id : 813561827 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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l+tanx dy
I o= ———= flaany ——
; v 1-tanx dx
l1+tanx d
y= |—— es0md, = =
‘ 1-tanx dx

Options:

1 l1-tanx 7
—| [/ | sec? (— + x)
2 1+tanx 4

1.

1 1—-tanx T
—| |———— |sec|l—+x
2 1+tanx 4

2. %
1-tanx T
{ 2
— A X
- 1+tanx) (4 T )
3. %
3 l1+tanx T
—| [/ | sec? (— + x)
2 \y\/1l-tanx 4
4, %

Question Number : 28 Question Id : 813561828 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the line through the point (2, 3) such that its x-intercept 1s twice its y-
mtercept 1s

28 B9 1-00B00CA, V-0d860rAS Blox) YA (2,3) Dot ot TS, &
B8 PEGHAD

Options:
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: g Xt2y—8=0

. 7 i
7 % 4x +_’L- + 2

2x +33y—46 =0

¢

s w43y —11=0

Question Number : 29 Question Id : 813561829 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

n

If ‘n” 1s a positive integer. then Z e G =L J2h=4

r=1
I
N’ B PrTosTAS Z reG=(___)2"*
r=1

Options:
o TR = 1)

n

. n(n+1)

4 % n+1

Question Number : 30 Question Id : 813561830 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

_ . sin(x™ ,
Find the value of lim ——— . given that n < m.
x—0 (sinx)"

_ sin(x™)
n<m S lim——— =
x—0 (sinx)"

Options:
2

1. %

Question Number : 31 Question Id : 813561831 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the point (1, 4) lies inside the circle x* + y2 — 6x — 10y + p = 0 and the circle does not
touch or mtersect the coordinates axes. then

v+ yE = 6x — 10y +p = 0 3,350 (1,4) Docrd)a0 odGods’ $OA Gobtur. R

Dototid) T Sdotw ‘&:Dﬁm:um T, a0

Options:
X 0<p<34
5> o 25 < p< 29
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9<p<25

R® 7«:ip-=1:129

Question Number : 32 Question Id : 813561832 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The point of intersection of the pair of lines x? + xy + 2y® = 3x + 2y +4 =01s

4 xy +2y% = 30+ 2y +4 = 0 A0rdocd Barasinn)R) Dot Dot

Options:

i 160 45
2, » €8 22
3, 8 § 23]
sv (2,-1)

Question Number : 33 Question Id : 813561833 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance between the lines 3x + 4y = 9 and 6x + 8y = 15 15 equal to units
3x + 4y =9 HBoiw 6x 4 8y = 15 RAreds G0 ;3)6,575 GG VLNV
Options:
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2. %

Question Number : 34 Question Id : 813561834 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The average marks of boys n a class 1s 40 and that of girls 1s 45. The average marks of both
boys and girls combined is 42. Then the percentage of boys in the class 13

28 BOAAG' erend Hry), w0 VTmB 40 Sodakn erdsy Sy © VTR 45, SIS

2080 s . erdge 0000 RTR0 42 O ered ‘5303)5?03&3)

Options:

o 60%

5 % 30 %

% 40%

4 x 20%
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Question Number : 35 Question Id : 813561835 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

.
: I : . X ¥
Find the condition for the line ax + by + ¢ = 0 to be a normal to an ellipse = + e 1

2 2
"‘? t ;’_6 =1 8635708 ax + by + ¢ = 0 B ©Dvowde S°HPS (o JoH&ED ___

Options:

1. %
1, 1 _ 128
5 % a? b2 c?
1 9 256

— =

Question Number : 36 Question Id : 813561836 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radical axis of the co-axial system of circles with limiting points (1,2) and (=2, 1) 1s

(1,2) 3080 (—2, 1) 698 DoGrHuorTeie s )8 VO e, Jurerssw

Options:
x+3y=0

1"
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5 2% 4+ 3% =0
3 % 3x+2y=0
4 3x+y=0

Question Number : 37 Question Id : 813561837 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The equation of the plane whose intercepts on x, y, z axes are 1, 2, 4 respectively 1s
X, 7,2 OFUR SO 1,2,4 €086 Dotroid I6y88 do VSRR B
Options:

1 4x+2y+z=4

4x+2y+z=2
g ‘A dya=1

4 % x+2y+4z=0

Question Number : 38 Question Id : 813561838 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Solve tan(x) + sec(x) = V3, x € [0, 2x]

tan(x) + sec(x) =3, x € [0, 2] J:

Options:

Question Number : 39 Question Id : 813561839 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

? a2
Intersection of two perpendicular tangents to the hyperbola " 1 lies on the circle

e

.1'2 2
—- % = 1 035030074 (0 Bot) Dota-0y6,00 Potd Dodod) 12+ y2 =

38300 QA Gotwod.

Options:

1o 2
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Question Number : 40 Question Id : 813561840 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If cos(x) + cos?(x) = 1. then sin?(x) + sin*(x) is equal to

cos(x) + cos?(x) = 1 @ond. sin?(x) + sin*(x) Dewd Doch?

Options:
0

1, %

Question Number : 41 Question Id : 813561841 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

¥

: . -— : : d .
The general solution of the differential equation log (-&i-) =ax + by 1s

log (22) = ax + by wdges 2D6rrIS Foronm IS
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Options:

—by ax
| ae + be c

ae®™ + be ™ =¢

2z, %

_ ae W —pe*™® =¢
3. %

ae? +be ™™ =¢
4_ *

Question Number : 42 Question Id : 813561842 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

InaAABC, a=1, b =+3and 2C = 1/6 . Then the measure of the third side ¢ =

ABC 8z025006° a =1, b =+/3 208080 £C = /6 o0, ¢ =

Options:

Question Number : 43 Question Id : 813561843 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Letu=-2i +2j + kandv =i —2j + 2. Then the component of ¥ on u is

U=-2i42j+k v=1-2] +2k 0ond udg v CIE), 0330

Options:

2.« 3

Question Number : 44 Question Id : 813561844 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The population of a city grows at the annual rate of 3%. What percentage mcrease 1s expected in 3 years?

28 AANG" 2rer MG Ge 3%. Lo 5 '&anaéjdaweﬁ‘ DGR 58 Jod Gotiidy.

Options:
12.9 %

1. %

13.9%
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L x 149%

, 159 9%

Question Number : 45 Question Id : 813561845 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Determinant of skew-symmetric matrix of order “three” is always

35 BONS DHE JrND A8 QTG00 DY HET

Options:

1.¢ 0

Depends on elements

3 % SOTFVSV O BTFODEIB0H

4.% 1

Question Number : 46 Question Id : 813561846 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mean deviation from the mean of the series (a), (a +d), (a + 2d), ... ......, (a + 2nd) 1s
(@),(a+d),(a+2d), ..., (a+2nd) 34 o308 Leg30G(DAD Ao DEDNSLD0
Options:
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n(n—-1)d
2n+1

n(n+1)d

> 2n+1

- (n(n+ 1)d)

n(n+1)d

4 % 2n

Question Number : 47 Question Id : 813561847 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radical axis of any two circles 1s to the line joining their centres

B0t HyTre Srerdan T Somrod SO0 da

Options:
Parallel
1 % NelT”o G000 Goltda)

Perpendicular

2 DOROTT &otO

Intersecting but not perpendicular

3 % DOCLOR, T° Vool ot

Can’t be determined

Qo=BotieT AN
4. %8 @
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Question Number : 48 Question Id : 813561848 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the length of the intercept made on the line y = ax by the lines y = 2 and y = 615 less 5 then

y = ax 39 y = 2 2800 y = 6 5eren 603 edtnodan ThPHw 5 63) 883, owd

Options:

a € (—oo, ™)

Voo @

«(33)
a _'_
5 % g b3

Question Number : 49 Question Id : 813561849 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Let S be a finite set. Then a non-1dentity function f: S — § can be

S 28 HBS DS, aar)m 2R000EAD 5. oA, f:S5 = § DDA
Options:
1%
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Injective but not surjective

9 9(SA0, 50 DoFRBD S°E

Surjective but not mnjective

RoRBD, 57N GBS S°E

Lo ™

Bijective but 1t does not have an mverse function
L Bybmddnoe, 50 TS DeS° A HACIED Eotd

Data msufficient

v STroBo eﬂfao.;joga»

Question Number : 50 Question Id : 813561850 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let o and f8 be the roots of the equation px* +qx +r=10.p £0.Ifp,q,r are in A.P. and

1 1
S + "B- = 4 then the value of |a — f] is

px2 4 gx 47 =0 % rere o, f (@ p £ 0). 2805 p, g, o ©0s8e (AP.) &°

S |
— — ra— 7
e:qlb. g +ﬁ 4 a0, |a — f| Db dodd’
Options:

V6l

. % 9

2417
9
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Question Number : 51 Question Id : 813561851 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A number lock has 3 rings and each ring has 8 digits. Total number of different ways in
which 3 rings can be rotated 1s

208 dotad &8 &' 3 Borben &) 0 8Ok P Borp 8 eST™) ow. 3 Borbwdd

DY) Gz Ay T GO\S0?

Options:

Question Number : 52 Question Id : 813561852 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If slope of one line of ax?® + 4xy + y* = 0 is 3 times the other. then the value of ‘a’ is

ax® + 4xy + y* = 0 2rdod 308" 28 &R T Gotksd 82 Tewsd 3 B Gotd, a Jevd

Options:

Question Number : 53 Question Id : 813561853 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the parabola y? = 12x at (3,—6) 1s

y? = 12x DoB00srS (3,—6) IS (50 Y610 HAESEAD

Options:

X—=y+9=0
% :

2'\_/.1‘+_1’+3:0
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Question Number : 54 Question Id : 813561854 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For any two events A, Bif P(AUB) = aP(ANB)+bP(4)+cP(B).then3a+2b+5¢c="?

A, B 0 097 Botd 0bwws P(AUB) = aP(ANB) + b P(4) + ¢ P(B) wawd, 3a +2b + 5¢ =

Options:

% 2

) v

Question Number : 55 Question Id : 813561855 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The curve v = ax® + bx® + cx + 5 touches the x-axis at P(—2,0) and cuts y-axis at a point
Q where gradient 1s 3. Then the values of a, b, ¢ are

y = ax’® 4 bx’ + cx + 5 9840 -0 P(-2,0) Dothdd 5, y-OFR) S0 T 3
&0l Dothoid) @ I6 Mocotsand) B. ©0S a,b, ¢ eded Jod?

Options:
2 =3
[l = 'b:— . =3
1. ¢ 2 4
2. %
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Question Number : 56 Question Id : 813561856 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. : . .
If 6 lies in third quadrant and cos 8 = = find value of tan 6.

-3
0 S0 Fo-III &5° &od 080 cosf = = 900D, tan g =

Options:

Question Number : 57 Question Id : 813561857 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

3 O 0
fA=|0 5 0|andB = A% thenB™! =
0 0 4
(% .5 6
A=|0 5 0|80 B =A% eond, B~ =
0 0 4]
Options:
2 B D
0 -5 0
18 0 =%
‘| e
27 0 0
0 =135 O
0 0 —64
2.
TR
27
125
0 0 i
3.¥ © :
o
27
0 s P
125
0 0 ;—i
4, % - -

Question Number : 58 Question Id : 813561858 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Solve (8 — t)%2 <« (t2- 3t — 10)

(8 — t)%2 < (t2- 3t —10) D& 63

Options:

(58]

(%)
—'m
2, X3

3. % (00 )

4, % iSgPE)

Question Number : 59 Question Id : 813561859 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the locus of a pomnt P(x, v, z) such that it's distance from the x-axis 1s equal
to its distance from the plane x +z =11

P(x,7,2) Do) 0l 1-0530N%) (L) GrEAD. e Dodod) Mol ¥ +2z = 1 VAN
(0 GIPTPS DATHAN A, P Dotdid) DoBINE DEERAD

Options:

i x2 -2y - 4 2xe —2x—~224+1=0

o x2 -2y —z2 4+ 2xz—-2x—-2z—-1=0

2. %
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x24+2v2+2z24+2xz—2x—2z+1=0

e

pox X2 -2 4 2x2 - 2x+22+1=0

Question Number : 60 Question Id : 813561860 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In how many ways a commuttee of 6 members can be formed out of 10 members but always
consisting of a specified member?

8 B 38 )G SaS” Godor 6 HZfeoR) S, 10 K08 Mo,
Ddhc&érsu DT DAVY R0

Options:

1 g
g Ts

Question Number : 61 Question Id : 813561861 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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In AABC, the circle that touches the sides BC internally and other two sides AB and AC
externally. 1s called

ABC 82020088 BC 20300/ ©oB00AD, AB, AL 20800 EFF{E0ma) "f\})ﬁuﬁ

Sy

Options:
Ex circle opposite to angle A

- A S0 AEOENT (0 eIy BE0

Inscribed circle opposite to angle A

Ly A S Q0T (10 oS00350

Circumcircle of the triangle

L SR DBBBI0

No such circle exists
29815083 HYBAN S{DIBo ST
® = ®

Question Number : 62 Question Id : 813561862 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

f(x) = |log, |x]| i1s differentiable at

f(x) = |log, |x|| 56 e 9ED 030
Options:

x = 0 only
% X=03rgd
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x = 1 only
, % X= 1 Sorghado
x = —1 only
5 8 X —1 S0
4P R—{0,+ 1}

Question Number : 63 Question Id : 813561863 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

3

Ifx+iy= _ - then x%2 + y% =
© 2+ cos(B) +1isin(b) )

3
2 + cos(0) +isin(0)

X +iy= oD, ¥ + y° =

Options:
1' v/ 4.1' - 3

Question Number : 64 Question Id : 813561864 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

o ‘ , =3 & =2 , Lo ‘
The direction cosines of a line are ( BT ) respectively. Then its direction ratios are
. -9 6 -2
28 DOV B Edw Hrr A= ) ©00R, &8 D6V0D BF oL
Options:
1 % (9, 6,—2)
— 5 =2
3‘ “?/) ( » r )
4. W% (qr ﬁ6r _'_2)

Question Number : 65 Question Id : 813561865 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the parabola y? = 8x inclined at 30° to the x-axis is

g8 30° Sndn 8, y? = 8r HordwirdS 2y6\3

Options:

3x — /3y +14=0

1%

5 % 2x —3y+14=0
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F J'll'_F =
pull v3y+6=20

Question Number : 66 Question Id : 813561866 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The line segment joining the points A(2, 3,4) and B(—3, 5, —4) intersects yz-plane at the point

A(2,3,4) 20800 B(-3,5,—4) Dotaeguid 580 B yz-8er) dodiotd Do)

Options:

(05:5)

1.

Question Number : 67 Question Id : 813561867 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In 3 trials of a binomial distribution. the probability of 2 successes 1s 9 times the probability
of 3 successes. Then the probability of success in each trial 1s

28 B0 DeTBRANG’D 3 ‘fgo:bwlue.‘i" 2 D201 S5y Vozrd(d, 3 duairew Suy
RoerH(BS) 9 B8 A, a&“sb ‘fgoi)e:baamﬁ“ QRN T HTPAS RO Qdoch?
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Options:

4, %

Question Number : 68 Question Id : 813561868 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If two lines are parallel to each other, then which of the following 1s true? (if (I, my, ny) and
(1, m4, n,) are direction cosines of the two lines)

(I3, my,ny) S08a80 (15, My, 17) Q0 BS SRR (10 B WETAEEE VAToBEID
oHDD, & S0b DSCITVS’ DB LVOIA?

Options:

‘ % Lil, + miym, + nyn, =0

o Y(lyl; —mamy)° =0

l4 omy Ny

Il m- n
3 2 2 2
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L+ mm,+nyn, =1

Question Number : 69 Question Id : 813561869 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Suppose that f and g are integrable on [a, b]. then f + g 1s ntegrable on

[0,b] D f, g 5008 DAFEVAOLTL WO, f + g O BodBAN 2 DATEVACHAD ?

Options:
) % (a,b)

Cannot comment

L (RN BaT AW
2. %

3, v LR D]

Rangeof f+ g

[+ g cns), T
4, %

Question Number : 70 Question Id : 813561870 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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2x” —3x+5
Integral J : dx 1s valid for
2x*

2x* —3x+5 L g
. dx @ ‘X DenSwsd S(HVBI0?
X @

Options:
x € R — {0}

1. ®
2J.1'>0
3 % ¥x<0

4131’6}?

Question Number : 71 Question Id : 813561871 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A triangle can be uniquely determined by its

208 BZDRAVA DESHT QT B0t STHVVDD DD?

Options:
Three angles
1w S0 Sradaoen

Three sides
) @ SO ZD2D0D

One of the angles and one of the sides
3w 28 Erasn S0BoKL 28 ZH2dW

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Only one side

4 % WS FORIAL G

Question Number : 72 Question Id : 813561872 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

d
Find d—yif 2x° —3xy+yi+x+2y—8=0
X

dy
2x2 —3xy+y2+ x4+ 2y —8 =0 @00, — =
dx
Options:
3y—4x—1
2y—3x+2

1.

3y+4x—1
2yY—3x+2

3y—4x—1
2y+3x+2

3y—4x—1

2y —3x—2

Question Number : 73 Question Id : 813561873 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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be b+c 1
Forany a,b,c € R. the determunant | ca c+a 1| 1sequalto
ab a+b 1
b’ b4+e 1
DD a,b,cEROD [ca c+a 1|=
ab: at+& 2

Options:

i a(b? — ¢?) + b(c? — a?) + c(a® — b%)
o @lb—c)+b(e—a)+c(a—hb)

s o @=Db)b-0o)c—a)

4 % abc

Question Number : 74 Question Id : 813561874 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

P =3i45]~ k and 0=14+2j+3 k are two sides of a triangle. then its area 1s

equal to $q. Units
P=30+5]—k 8a0 =1 +2] +3k 202 Gt Hadmuly Arda, ¢
2020 gﬂ?usm) 02 CPED
Options:
V390
1.8 4
2. %
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Question Number : 75 Question Id : 813561875 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the value of cosec 750° — 2(cot 765°)

cosec 750° — 2(cot 765°) e

Options:

Question Number : 76 Question Id : 813561876 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If 3a 4 5b 4 6¢ = 0 then the family of lines ax + by 4 ¢ = 0 pass through the fixed point

3a +5b + 6c = 0 @00, ax + by + ¢ = 0 Ardotd Farsotnotio J'ad goam@

Options:

(3
o e
1.% N6 4

Question Number : 77 Question Id : 813561877 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If (f(x))? = f(x?) + f(1) holds good. then find f(x)

(f())? = f(x?) + f(1) o, f(x) =

Options:

1
e e
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1

12_;__

3, % *
1

e
40

Question Number : 78 Question Id : 813561878 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

dy 1+ y?

dx (Tan"tly) —x

Solve of the differential equation

dy 1+y2

= = 9HEVD PAEGEISD JGD
dx (Tan~1y)-—x

Options:
-1 -1, 7
xeT™ Y =g~ Ty ((Pan~1y) — 1) +¢
1. ®
-1 5 —%in f7 _
§ AR g BTN (R ) = 1) F &
g =1 wy . "
R — g TR LT 1) £
3..%
-1 ey : &3
xeT® Y = o~Tan 'y ((Tan™ly) + 1) + ¢
4, ® '

Question Number : 79 Question Id : 813561879 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Given AABC suchthat Ais 27 -7 + k . Bis i —3j -5k andCis37 —47 —4k then AABC is

AABC Qzoaod’ A(27 -7 + k). B(1 -37 -5k) . C(37 -4 —4k) wand. ABC Szhasm
Options:

An equilateral triangle
| w28 DTV GBI

A night-angled triangle

, @ S ©0e)8'ed HZDREWD

An 1sosceles triangle
25 VOOQEFDTD GZO2D

3, ®

A scalene triangle

g % 28 DAVTTV GFoRD0

Question Number : 80 Question Id : 813561880 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A random variable X has the probability distribution as given below. Let £ = {X | X 15 prime number}
andF ={X|X <4}.then P(EVUF) =

X o:mgaas BOT3 QE), DoeP(S QTR S0l ::éé‘ fa;bsuda&. 8ok F = {X | X < 4.
E={X[X Qe R0} w0, P(E U F)=

X 1 2 3 4 b 6 7 8

PX)| K | 2k | ¥ | 28% | 88 | X K | 2K

Options:
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1, % 64
39
42
3 % 64
17
4 3 64
Section Id :

Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required?:

AP EAMCET 2020

Physics
81356117
2
Mandatory
40
40
40
Yes
Yes

Yes

Question Number : 81 Question Id : 813561881 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A body executes simple harmonic motion with an amplitude A. At what displacement. from
the mean position, 1s the potential energy of the body one fourth of its total energy?

RO¥ 0°8) € oD &) o SodADBA A. rc(e g:r:)é dodh g“éga’éa 36
@ 538, Aodo 386 TUND Hod Gotd0l?

Options:
A

4
) & 2

3. %

3A

Question Number : 82 Question Id : 813561882 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The distance between the centers of moon and earth 1s D and mass of earth 1s 81 times the mass of
moon. At what distance from the centre of the earth. the gravitational force will be zero?

Zrad, o, Somre A0 Grdiw D. ZArad @303 o G038 81 B, LN, Ar
Sogiidn Avot: od GrEANY” MES] LOKD AP BYAE.

Options:
D

1.% 2
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9D
4.« X8

Question Number : 83 Question Id : 813561883 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bomb of mass 9 kg explodes nto two pieces of mass 3 kg and 6 kg. The velocity of mass
3 kg 1s 16 m/s. The kmetic energy of mass 6 kg 1 joule 1s:

9 kg SHTR o w8 erotn 3 kg 208050 6 kg STH0R (1) Bocdd 208 DOTwed.

3kg &STR o A8), Do 16 m/s wow, 6 kg BI°3 o Swg) AB23S IV

Options:
96

1. %

, 384

3. 192

768

Question Number : 84 Question Id : 813561884 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

What should be the diameter of a copper wire (¥ = 12 X 10* N.m™?) of length 5 m to produce the

same elongation produced by a 5 m long aluminum wire (¥ = 7 X 10** N.m™?) of diameter 3 mm
with the same 40 kg mass?

T 5m TR0 3mm (o sergdobo ik 40 kg 603 3AY O Jod Frbdved, 6
40 kg gT3S ©od Fdsw 5 m Terto T 8" dotrvoll o0 &f T dodd ?0°h oo

rsan- (V=12 x 10° N.m™) eurgado Ao Aegan- (Y =7 X 10° N.m™)

Options:

1% 1.5mm

5> % omm
3 ¢ 2.3mm

4 % 10 mm

Question Number : 85 Question Id : 813561885 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball 1s dropped from a spacecraft revolving around the earth at a height of 120 km. What will
happen to the ball?

AV chodar 120 km d&0% SDDAD) WoddE Tdo ot 28 L0 PEGTA. O
&3 2098 Db BAMDD ?

Options:
It will continue to move with same speed along the original orbit of spacecraft

y $£(8° SDMAY) Bod0E TrRed RATROT 18 SAS 38 ParErd) EIFARB.
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It will move with the same speed tangentially to the original orbit
, RS 246,8a%0rr 2,8 HEE paireiowodd

It will fall down to the earth gradually

2 % SB00r Zrdd 6 DEX

It will go very far in space.

) x T GBI CorT e90385085°S D'ddood

Question Number : 86 Question Id : 813561886 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a moving body collides with a stationary body. of n times its mass. then the amount of
kinetic energy transferred to the stationary body 1s

302006 00) 28 5, DoSAVE ) 1 8L BT o HTE S & §ob,
o008 ol WL WA Lok (228 Jos?

Options:
4n

i i (1+n)?

n
5 % (14n)?

_nz

3. % (14n)?

4, %
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(1+n)?

AP EAMCET 2020

Question Number : 87 Question Id : 813561887 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a helium nucleus covers a circle of radms 0.8 m in 2 seconds, find the value of magnetic
field B at the centre of the circle.

28 Do Zogigan 2 VL ssWS’ 0.8m TG 10 08 Sydo B HoSrtiodod.

SR, 8 )8 S0 56 LADI) 08 £ VW DLV SYAW.

Options:
10—19

1.% Ho

~19
5, ¢ Ho X 10
o« 2ifio X107

3,

2 X10~1°

4 & Ko

Question Number : 88 Question Id : 813561888 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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A uniform circular disc has radius ‘r’, A square portion of diagonal ‘7" is cut from it, The
centre of mass of the remaiming disc from the centre of disc 13

w8 8 8 HTs 6 HUS 353"9}:.133 T S0 77 (10 28 BGIITC TR T Ao
800t d. DS 206 Do) Mok AR Hug 9350"-9 So¢ie) Arda.

Options:

r

2. W

Question Number : 89 Question Id : 813561889 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Water flows through a hose pipe whose internal diameter is 4 cm at a speed of 1m.s™*. If
water has to emerge at a speed of 4 m.s ™. the diameter of the nozzle should be

4 em TR 0 I FH3W 0d 1m.s™! 48 A pdtrodw. 4m.s™! 948

RODOIS) DT T Bogidn) o

Options:

13@1{:m

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



5> & 2cm

. 4cm
e

“ 0.5 ecm

AP EAMCET 2020

Question Number : 90 Question Id : 813561890 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Pick out the longest wavelength from the following types of radiations

QN NS08 gsceres’ OS(BS aéanggs;a» (10 T 80P

Options:
visible blue light
C5y8] DOIL ST

Ultraviolet light
| ©93J0S TS 5°0d

X-rays
3 % X- SO

visible red light
e, G5)B] QA ST0B

Question Number : 91 Question Id : 813561891 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020
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Orientation : Vertical

The ratio of the adiabatic to 1sothermal elasticities of a triatomic (non - linear) gas 1s

28 GH6rms (600 5°7) Tahog) g, S Hdaky v-eJde B

ﬂﬁj{? =

Options:
1.% 34

2 % 132

3\\_9?4'3

4. 8 5:3

Question Number : 92 Question Id : 813561892 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The termunal velocity ‘v" of a spherical ball of lead of radius ‘R” falling through a viscous liquid
varies with ‘R” such that

‘R’ 355"%:3» 0 w8 DY) (Dot :IJQ" B30 T S0t DEIBR) @ T SRS i

‘v’ bk ‘R’ 8 mé NCIALTA Y

Options:

|74 |74 "

— — constant — — U050
1 % R R @

VR = constant VR = DT oS0
2. % “
3. %
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V = constant Vi= %U”GSO
V |74 .
— = constant — = DU0"0S0
: p R2 @
4.

Question Number : 93 Question Id : 813561893 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The half-life of a radioactive sample is T. The fraction of the mnitial mass of the sample that
decays in an mterval T/2 1s

3c.alr ErB)8 Suredn aos) g 208 502w T. T/2 sodwe’ 83 §9 ¢ 03¢ dod

2PBAD DD Dok

Options:
1

V2

1.

V2

2, »

(VZ-1)
V2

(VZ+1)

Question Number : 94 Question Id : 813561894 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Taking earth to be a metallic sphere. 1ts capacity will approximately be

27D 28 §rand Sobadd Avawrr ardy, o 308 Jend &EPoNeYT

Options:

. % 64X 10°F

5, % 700 F

. o 700 uF

4 » 700pF

Question Number : 95 Question Id : 813561895 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A vessel contains mixture of hydrogen and oxygen gasses mn the ratio of their masses equal
to 1:5. The ratio of mean kinetic energies of the two gasses 1s:

115 @300 digyde' P62 0L BSad TP DIATI) w8 IS
SRDT) 6. OV &8 Tod TANYHY VOB (B3R S

Options:
w131

2 % 1:16

3 »16:5
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Question Number : 96 Question Id : 813561896 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following generates a plane wave front?

Sod T°¢3¢5° DO @daﬁ“ﬂ“b& SO\S DAoB?

Options:
Point source

1 % Doddd 280

Extended source

, o DRBod 2o

Monochromatic source

DESC 2580
3. % &

All light sources

_ w:)cl S°0ed 20T
4,

Question Number : 97 Question Id : 813561897 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A magnetic needle lying parallel to a magnetic field requires W units of work to turn it through
60°. The torque required to maintain the needle i this position will be

0030 08 EGANG VAFOBEAVTRAD) WO 08 APD 60° Etdo GO\TAS BADDV

53 I om0, A0 98 908’ Eotitmd SI00% €76

Options:

1w V3W

W

Question Number : 98 Question Id : 813561898 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The energy stored in a strained wire 1s given by

DEy8 $DABED 28 SIS Do God ¥8D Budy PGB0

Options:

1 :
= x load x extension

1
— x &G0 x LGV
Lo 2

1 .
5 X extension x stress

__ % X DGR x DALV
2. %

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

1 ;

e X stress x strain

1

— * DBWVo * DS
3. %

1 ;
= % strain x load.

= DEYD x &G0
2

4, %

Question Number : 99 Question Id : 813561899 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four pendulums 4, B, C and D are hanged from the same elastic support as shown in figure.
A and C are of the same length while B 1s smaller than A, C while D 1s longer than A. If 4 1s
given displacement, then at steady state

& 808 eS"méeﬁ“ PRt 28 ;ﬂaa g::s TG0 Aot Teur) §'wseen 4, B, C Hdosw D
w0 et G760, A 208000 € © TeheHew VArdaw, B Te 4,C © Sotd 38 3 08080 D
JTEYD A S0l DS S. 4 8 .gox) Bow ) £dhow) SBIT. Jvscd gae'i‘

®,

Options:
D will vibrate with max amplitude
. D 088 003 HBDA & SowdotdAD
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C will vibrate with max amplitude

, o € 080 5003 HODS S £020tDR

B will vibrate with max amplitude

B (3833 S0 DA & LodotAD
3, %

All four will osculate with equal amplitude

4 % TROD 28 SoDD DO & SodoIFrow

Question Number : 100 Question Id : 813561900 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

How many revolutions does a wheel with angular speed 88 rad.s™" make m one second?

88 rad.s ™ Ethaddrn (o Bgaw w8 PSS’ D) Forren Babo?

Options:
1.% 7

2. v 14
. 28
4 % 4

Question Number : 101 Question Id : 813561901 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Electric lines of force i the field of a positive point charge are

w8 TS)S Dot BIFAW AE), FSIS" V(S LB E0CoR)

Options:
radially outward
| SoB0DELMT L0

radially inward

5 % SoBONINMT DO

parallel
3 % RATBEAT

converged

4 % SoHsBotsect

Question Number : 102 Question Id : 813561902 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following remains constant for a projectile fired from the earth?

So& 58" 2 ol DD HLD YD VOEJVMT GotIA DB?

Options:
Momentum
| % @3] D10

Vertical component of velocity
5 FelgPubb) GIE), VotToBO
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Kinetic energy
(32 33

AP EAMCET 2020

Horizontal component of velocity

4.

|, DA o), £ HATToBG 0B

Question Number : 103 Question Id : 813561903 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum velocity of an electron emitted by light of wavelength A incident on the surface
of a metal of work function ¢ s

= speed of light].

d D 200D &A% & TSV 1 dof Qgﬁm HOAD 5708 DI Eﬁo&é@bm
LODLS) Sy DT (182 i [h= %‘a% %masma, m = JUTD GIO°3 Ldakw ¢ =

508 (o]

Options:

J 2(hc+Ad)
, mA
S

[h = Planck’s constant. m = mass of electron and

AP EAMCET 2020
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Question Number : 104 Question Id : 813561904 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A man pushes a wall and fails to displace 1t. He does

28 3032 8 Ay Fdzodo Dol ADVRAITIE. BB BB

Options:
Negative work

o 20 DA

Positive but not maximum work

B, B° rsag D) B
2. &%

No work at all

L o D008 DY 2T

Maximum work

i da%q e

Question Number : 105 Question Id : 813561905 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Four 1dentical spheres each of radius 10 cm and equal mass 1 kg each are placed on horizontal
surface touching each other so that their centre are located at the vertices of a square of side
20 em. What 1s the distance of their centre of mass from the centre of either sphere?

10 em :rsirgo, 1kg @302 (o e 28 65200 Ao DArds d¥om w8mraE 58
T30 0. D8 ang). Sodseen 20 cm Fozoie) w8 BdGRo A0S %g“u Sl

&oCt Dol 00"\, WO, 28 Av8ogo Aol Jod Grdod” G0 Sodo Eotdod?

20cm

+

20cm

20cm
20cm

Options:

1w 20V2
2. % 30V2

3. v 10v2

Question Number : 106 Question Id : 813561906 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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The center of a wheel rolling on a plane surface moves with a speed V. A particle on the rim
of the wheel at the same level as the center will be moving at a speed

08 Hr080 Buop G800 26 Do MoV . &8 B S, SosE DotoHE
PDAPD00208 I, 352 A0 Godt Do) AE), S Dod?

Options:
1.5 0

2. % Vo

Question Number : 107 Question Id : 813561907 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The efficiency of a Carnot’s engine is 100% only when

50°) &5 aDoBaw B£S 1007 GoktrdS

Options:
Ideal gas 1s used as a working substance

DRI *‘.:c:“g;a.u €366, STTOEVDR T

1.8

Temperature of the sink is equal to absolute zero

BB BOLA0 AE), EA'BS DOBOHDHE0
2. ¥

3. %
AP EAMCET 2020
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Source temperature 1s equal to the temperature of the sink

egéomma eg‘ge TP HADIN AV, aggas: AT DA

Source temperature 1s equal to absolute zero

eg"éo:b;ﬁn aI0E), e.gge:; DO2BHID(E0

4. %

Question Number : 108 Question Id : 813561908 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coils of a step-down transtormer have 500 and 5000 turns. In the primary coil an A.C current
of 4 A at 2200 V 1s sent. The value of the current and potential difference in the secondary coil is

8 D & 1B3YS0 500 S0Bakn 5000 ek $BA God. ek Arf owS's 44 AC ek
2200V 3¢ 000656, B1305 o il 6 1ed DS Hriro H0Bok JES TEJaHES
Ho od?
Options:

204,220V

1, %

, % 0.44,22000V

s v 404,220V

4 % 40A,22000V

Question Number : 109 Question Id : 813561909 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Electric potential at a point distant 0.5 m from a spherical conductor of radius 0.2 m

charged to +1 nC 13

+1nC &£ D@Jﬁéédmm B0d 0.2m a»sa-gan (0 HYsed T &od 0.5 m

AP EAMCET 2020

G608 o Do) 56 DAAS OIS

Options:
, IV

1« =

,

.o +18V

. —18V

Question Number : 110 Question Id : 813561910 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The condition dQ = dW holds good in which of the following?

dQ = dW oo $od @ HS0HES” e HELLICIHIE?

Options:
Adiabatic process

. DBgs piaw

Isothermal process

D eooe HioH
2.V “‘0 &S

AP EAMCET 2020
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Isochoric process

D6 10D VBT HIAL

Isobaric process

. g %dfxié D%

Question Number : 111 Question Id : 813561911 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

306 J of heat 1s required to raise the temperature of 2 moles of an 1deal gas at constant pressure
from 25 °C to 35 °C. The amount of heat required to raise the temperature of the same gas
through the same range at constant volume 1s

20 DA 36 2 36 © V6T 6 25 °C Kol 35 °C H65 DotseAS 306
€0 ST, DBDBAFHA AT 6 D ©F TP wod &AL Do
S0 GHA

Options:
30617

.
1531

.o 1407

8017

Question Number : 112 Question Id : 813561912 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A body at 3000 K emits maximum energy at a wavelength of 9660 A. If the sun emits maximum

energy at a wavelength of 4950 A. what would be the temperature of the sun?

3000 K 36 fio 8 2059 9660 A 800ripgaw ¢ 103 940 erBoidsy, Andoe 4950 A

3w 3¢ 10 389 GTOR, Y ArG(D Gl (18 Jod?

Options:
1. « 95855 K

S0of

, % 7000 K
5w 4250 K

4 % 8000 K

Question Number : 113 Question Id : 813561913 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The primary of a transformer has 100 turns. and operates at 100 V-200 W. The number of
turns 1n the secondary. if the output voltage 1s 2000 V 13

5036840 GRS o&) 100 tot> $BA 100 V-200 W 568 HIBk0eioR) &. oS

2000 V 5008 Fraithoes” o8 2o dod’

Options:

T o 2000
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100

500

Question Number : 114 Question Id : 813561914 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A rocket 1s fired vertically from the ground with a resultant vertical acceleration of a 10 m.s ™.

Fuel 1s finished in 1 min and 1t continues to move up. What the maximum height reached?

Zrdeo 2ot DALV P8 28 TR DB\ B Todd DS &bmo 10 m.s 7%, w8
QRS Roo 0T ANT OB 8 AoSTAAT 0B, B OB Jod (0%

80 dod?
Options:

36.4 km
1. ¢

42.3 km

48.4 km

25.6 km

Question Number : 115 Question Id : 813561915 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A proton enters a magnetic field of flux density 1.5 Wh.m ™2 with a velocity of 2 X 107 m.s™

at an angle of 30° with the field. The force on the proton will be

1

AT Fod 1.5 Wh.m™ o 0oy o £3a06°8 w8 Terd 2 X 107 m.s™" Shawd
Z3308 30° Eevo BT A0, Terd P DSV
Options:
el ¥
o, 24xX10 N

24X 10712 N
024x 1072 N

0.024 x 10712 N

Question Number : 116 Question Id : 813561916 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tuned circuit of a transistor oscillator unit has an inductance of 5 mH and a capacitance of 5 pF.

The natural frequency of the oscillator 15

33 B3 28 LrAW6 Eogan Svohane’ 20880 5 mH rrir 28080 389y 5 pF
PR 63) 8. & Eugin ag) Rira IR
Options:

100 kHz

1 ™

2. %
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1GHz

10 MHz

1MHz

AP EAMCET 2020

Question Number : 117 Question Id : 813561917 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A current ] = 10 A 15 passed through the part of a circuit shown in the figure, What will be the potential
difference between A and B when ‘I” is decreased at constant rate of 10% A.s™* at the beginning?

D0ANE" Brad M3 [ = 10 4 D[S VoA w8 eriwd’ PIaFod. Dmﬂp@m
28 ;a:dama G0 102 4.7 ozod’ BRot)d, A, B © o6 TO0HES B dod?

Options:
-7.5V
1. ¢

35V

-39V

4V

4 —=>—NW
20Q)

3
S5mH
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Question Number : 118 Question Id : 813561918 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A block of mass m 1s placed on a smooth wedge of inclination 6. The whole system 15 accelerated
horizontally so that the block does not slip on the wedge. The force exerted by the wedge on the
block (g 15 acceleration due to gravity) will be

b e o (o TRodweD M ST 28 B30 Gotrd. Ando KV §82 VAP
810 $ON €)@ B) T BLo Aol PETE. T Bvo B SLIENY WO
(g o Seao o)

Options:

me. cos 6
o R

mg.sin 6
mg

mg. sec 6
4.

Question Number : 119 Question Id : 813561919 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A rectangular metal plate 8 cm X 4 cm at 127°C emits E J.s~*. If both length and breadth are
halved and the temperature is raised to 327°C. the rate of emission 1

127°C 3¢ 8 cm X 4 cm B¢ WBBFT Y DS &rdAw E 1571 008 T ey Bor
RS Bflodd. &8 327°C S 200 T &3 dod?

Options:

9
(—) EJs?
4

Question Number : 120 Question Id : 813561920 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acceleration due to gravity at a height ‘h” 15 equal to that at a depth ‘d” below the surface of
the earth. if

B8 00é h A 56 MESB0RAN d 6'8> 3 ADSBEDS HATIAN 0008

Options:

d=h

1. %

2. %
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2d = h

a=2h
3.¢
m 3d=h

Chemistry

SectionId : 81356118
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561921 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which element of the 3d series has highest third 1onisation enthalpy?

3d 3638 BoBd D ArwsdS BSOS ArES LanASEN Joady Gotnod?
Options:

Mn
1. %
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Zn

Fe

Cu

Question Number : 122 Question Id : 813561922 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following represents the correct order of variation of bond angles
in the given molecules?

$08 D) YTV LGS TTY DA i) $08 B’ DOGRG &?

Options:
NH; > NF; > PCl; > BF;

1, %

, « BFs > PCly >NH; > NF;

BF, > NH; > PCl; > NF;
3. %

4o BF; > NH; > NF, > PCL,

Question Number : 123 Question Id : 813561923 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a compound with empirical formula C;Hg0. how many aromatic structures are possible?

C;Hg0 eoeerds &m&u iR DA Y8 D) 20 e)S 07} E0 TN ?

Options:
.
| P
. D
2.9
SR/
3. %
4, ¥ g

Question Number : 124 Question Id : 813561924 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can show geometrical isomerism?

SoBT S £ FEyT () DBBotd (1DHG D&?

Options:

 ICHCl = CHCI
LY
3 €Cl = CHEL
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CHZ — CH2

Question Number : 125 Question Id : 813561925 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the concentration of fluorine m ppm 1 500 g of toothpaste containimng 0.2 g of fluorie.

500 g &S O 0.2 g 83 $Aeot) TR med ppm 08" Jod?

Options:

2 X 102

2
., 4x10

4% 10°

4x 103

Question Number : 126 Question Id : 813561926 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How much current 1s required to produce H, gas at the rate of 1 cc/sec under STP?

STP 56 1 cc/sec 38 Hy Ta00:R0 D6yHses) dod DA S)TFD) &dasrfiotrd’?

Options:
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2.33 A
1 b 4
604
2. %
79 A
3. %
8.61 A
4.

Question Number : 127 Question Id : 813561927 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A metallic solid undergoes Frenkel defect. Its original mass. volume and density are M,. V.
and D, respectively, After Frenkel defect the mass, volume. and density are M. V and D

respectively. The variations of M. V and D after Frenkel defect are

28 O 080 036 G’ Tobol. & @03 My, IDB3resw Vy Hodasw
Fo@d Dy. 085 &0 Todd SHOTS & B9(0°3, 20ADBATE HHBAK FoGBe
ST M, V 2008050 D 000d, 30870 &° D8 Jodwn?

Options:

M=M V=V D=1
i o 0 0 0
5 0 M<M, V<V, D<D,
3 % M:;’MD, V:VO, D:-’DO
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M=M0,V‘::V0,D:>DO

4, %

Question Number : 128 Question Id : 813561928 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate energy of half mole of photons of a radiation with frequency 3 x 10* Hz.

3 X 10 Hz =03 (10 D365 0n8), 8 36 T #8 dod?
Options:

598.2 kJ.mol™ !

0.598 kJI.mol™?

1.196 kJ.mol™*

119.6 kJ.mol™ !

Question Number : 129 Question Id : 813561929 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement about aniline 1s false?

A. Aniline is a strong base than ammonia
Aniline is a less basic than methylamine

pK, of aniline 1s more than that of ammonia

o 0w

Aniline reacts with bromine water to form a white precipitate

VDL Hoe10B0D) $oBT IS’ D HIBDo DOADI S°E0?

A. A7) Al ST 295 LV E0o
B. 23S D $77) DD wwirdd T60
C. D3 pK, Densd e dasr pK, Densd ol &3

D. 2993 §° WS 2w0S 16| Jod BV BIFDI BN

Options:

A

Question Number : 130 Question Id : 813561930 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A charcoal cube having side length 10 cm 1s chopped lengthwise into 5 equal pieces. Then,
the effective adsorption power

10 cm T 0ot 0 28 &'t 0T TP owdd T g wore Sodrr, 8

50 wATHN a-mgﬁan

Options:
Increases by 2.33 times
2.33 B0 DM
1.¢ i

decreases by 2.33 times

5 2.33 TéD S

Increases by 2.14 times
3 % 2.14 Ge» DM

decreases by 2.14 tumes

4w 214 0 S6HO

Question Number : 131 Question Id : 813561931 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction 2NHj(g) + COyg) = NHyCONHyqq) + Hy0yy. find the value of equilibrium

constant at 295 K. Given, standard Gibbs energy change at the given temperature is 13.9 kJ.mol ™

295 K 86, 2NH; (155) + 03 () = NHaCONHj (55 + Hplpyey) 6( DTRS 200850
fitdoudoc.. U\ egga 36 D3 Ay 388" Srdy 13.9 kl.mol ™

Options:

2.88 % 10°
1. ¢

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



2.58 X 107

2.40 X 10

2.65 X 10?

AP EAMCET 2020

Question Number : 132 Question Id : 813561932 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following materials 1s extensively used as a piezo electric material?

808 AS" OF B GO ©S(BEAT B GHATATE?

Options:
Quartz
.

»

Mica

5

Amorphous silica

- 0808 D

Tridymite
e3¢ 2085

i, .
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Question Number : 133 Question Id : 813561933 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The common name of isopropyl benzene is

DV TS Hodd GI0E) TS (drdes) o

Options:

Styrene

Quinol

NS5
2 %

Cumene

Cresol

S¢S

Question Number : 134 Question Id : 813561934 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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DNA consists of two polynucleotide chains. Each chain forms a right-handed spiral with how
many bases i one turn of spiral?

DNA B0t 39 Argair 30870 SO0 Gotiod. 1O HDOdw 6 B8 2198 o B
DO\ IR, 28 D08 AOMES” AJ) T Gotran?

Options:

4-\?.10

Question Number : 135 Question Id : 813561935 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The supply of oxygen to tissues by blood. can be explained by

SoCiTrL) B8\ BS VEHT” DEOD G(O° DILSBorddtidy

Options:
Le-Chatliar’s principle

ol O ArB0%6 Dasavaw

Boyle’s law

5 % EPONY AODED
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Charle’s law

x 70 QaDVAW

Dalton’s law

- t::“g_g.s MelevtFebiutt

4, %

Question Number : 136 Question Id : 813561936 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s correct about C 032_
A. The hybridization of central atom is sp*
B. Its resonance structure has one C — O single bond and two € = 0 double bonds
C. The average formal charge on each Carbon atom 1s 0.67 units

D. All € — 0 bond lengths are equal

£0,” % %otaoBod) SoBTI D HIBHAW Jzdw?
A 06 DO TS, DoSESCEID sp°
B. &*d aﬁ‘a.sb o7 3300 28 € — 0 wo6an Botd € = 0 wogrew &R &otwod
C. 90 56D D dritw )& D30 0.67 eIk
D. @) € — 0 o6 Groen dArddw
Options:

A
1.
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Question Number : 137 Question Id : 813561937 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 40% by mass sucrose solution 1s heated till it becomes 50% by mass. Calculate the mass
of water lost from 100 g of the solution 1s

40% PO S0 o e ) DA Bk 0B 50% g SanT Sro8.

100 g © & Ar§a Trandw 2ol §6°\00d A o Jod?

Options:

10
T

Question Number : 138 Question Id : 813561938 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the correct order of the given elements with respect to their size

SoBTES” DBITET) &) VDTS Edvo B ?

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020

Options:

. Zn > Fe > Fe?t > Fe3*
1. ¥

Fe3t > Fe?t > Zn > Fe
2. %

Fe > Fe*t > Fe*t > Zn
5.

- Zn > Fe®*' > Fe?t > Fe
4,

Question Number : 139 Question Id : 813561939 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct order of decreasing acid strength of following acids is
1) Trichloro acetic acid
2) Trfluoro acetic acid
3) Acetic acid

4) Formic acid

S0 A0 B LD DB SBTEE SIS A
1) BEE DO esa
2) 86 DS esd
3) DS e
4) 88 s
Options:

1 g >3 >8

1« =
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15 3 5 2 i

2> 1>54%>3
3. v

234> > 1

Question Number : 140 Question Id : 813561940 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electronic configuration of Cs is

S0BI°DeS° Cs DOS°D 5)::“5?:3::

Options:
_ [Kr] 5st

1
5 [Xe] 6s

Rn] 7st
5 u SR TR

4 [Ar] 4s?

Question Number : 141 Question Id : 813561941 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

Orientation : Vertical

el



AP EAMCET 2020

Calculate the ratio of the effusion of CO and N,. when temperature and pressure gradients
are held constant?

3 o uBosw :36 %gﬁ@v =2 CO 08050 N; Jroin)v D“eajdeao 3‘&:{3@

©

Options:

j, » %E 8

Question Number : 142 Question Id : 813561942 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is correct for the cell Zn | Zn*? || Cu*?® | Cu

Zn | Zn*? || Cu™?® | Cu 20678 2020800 & $0d DTS AB s’

Options:
Zn 1s reducing agent

. % Zn 80308063

Cu 1s anode
, x CuesS&

Cu 1s oxidizing agent

~ Cu 6%35693
3. %
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The cell reactionis Zn + Cu™? —— Zn*? 4+ Cu

00 WO Zn + Cu*? —— Zn*? + Cu
4. v

Question Number : 143 Question Id : 813561943 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Among the following processes. for which process. the change in entropy (AS) is negative?

& Brioad e’ (cs6jue’) 3R Dogged Sridy (AS) awErd)So ©HB006?

Options:
Sublimation of Iodine
“ DOVED DDA

Freezing of water

i D& 20AZDDAD

Burning of rocket fuel

T°565 Qoo B0
3. %

Dissolution of Sugar

€58),6:0 SB8ACDDHED
4. %

Question Number : 144 Question Id : 813561944 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The correct order of increasing acidic strength among the following is

SoBT°E) DBALD 32 werew B Ire S8 Bl

Options:
Phenol < Ethanol < Chloroacetic acid < Acetic acid

, DTS < aeSS < S8 DDBS 3030 < VGBS e3VBN
s

Ethanol < Phenol < Chloroacetic acid < Acetic acid
QBSS < DTS < ET DDAS 32090 < QDS €205

2. %

Ethanol < Phenol < Acetic acid < Chloroacetic acid

5 BBSS < DTS < JVBSE AW < 6 JVOS es:80

Chloroacetic acid < Acetic acid < Phenol < Ethanol
§6 QDBE €208 < DDAE DAL < DTS < ABIS

Lo}

4. %

Question Number : 145 Question Id : 813561945 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

a i B
Calculate the number of protons. neutrons and electrons in | S .

57 & Terddn, AriErddd 2080k JUTI ool

Options:

. 14,18,16

, « 16,16,14
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, « 18,16,14

. 16,16, 18

Question Number : 146 Question Id : 813561946 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molar ratio of a weak acid HA ( K, = 107°) and its salt with strong base so that
the pH of butfer solution 1s 6.

pH = 6 000%[ DorT &) wwerd e HA (K, = 1076) 00050 w0@od w6

Dcﬁ_)de‘b o VY Arerd SR (fdotiod.

Options:
1. 8 10

Question Number : 147 Question Id : 813561947 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A pungent smelling gas “A” gives dense white fumes with conc. HCl. When “A” reacts with
alkaline solution of a colorless reagent “B”, a reddish-brown precipitate “C” 1s formed. The
compounds A. B, C respectively are

QPG RN (0 A’ Tabo) e HCL & 6Lmd 8 THXS\R. 6ohd B' 57680
aws), 30 Taned ‘A ol Jodd )-AE Bord (i BIEDLAN T I\EIA. 98 &
A, B, 208050 C o ddowrmr
Options:
NO, . NaOH . [Fe(H,0):NO]**

1.8

, « NHs, NaOH , K;Hgl,

, , NHs, KxHgl,, NH;.HgO.Hgl

Cl, . Sodium nitroprusside. [Na,Fe(CN):NOS]

Clz . ﬁﬁﬁOﬁDa Egb‘;;‘_)‘)&., [NﬂzFE(CN)5NOS]
4, ®

Question Number : 148 Question Id : 813561948 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The possible oxidation states of Group-13 elements is/are

ArD-13 Joresten Todne e38186e DB

Options:
1 % +3

2'\?-{-1,-1-3

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

a2 ¥1

4 » PL B, 43

Question Number : 149 Question Id : 813561949 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following mineral acids can attack Si0,?

o 2 ATVS’ B Si0; & VE{ToBHE?

Options:
conc. HNO;
1 % G HNO;

, u Ha80,

3 « HF

4 % HCI

Question Number : 150 Question Id : 813561950 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the shape of I3 ion?

I3 0903 e55°6o BVDoC..

Options:
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Trigonal

, x OFcaL

Linear

, o 0D

Bent

5 x StiaD

Trigonal planar

, w 95D dvdeo

Question Number : 151 Question Id : 813561951 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When glucose reacts with bromine water. the main product is

ArED, 5D BOINS o[ ToBd DBy VED S D) B

Options:
Acetic acid

1w 9005 8020

Saccharic acid

_ 808 essnAw
2, % «

Glyceraldehyde

- APTOrE
3R E
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Gluconic acid

0SS esvA0
4.9 >
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Question Number : 152 Question Id : 813561952 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Elements of which of the following group(s) of periodic-table do not form hydrides?

56 DOSS” 2 AP/ (APYVL Bodd JuresTen TEE O DO\G)?

Options:
Groups- 7,8,9
1 o grr)en- 7,8,9

Group- 13

Groups- 15,16, 17

. x (e 15,16,17

Group- 14
. (ora)- 14

Question Number : 153 Question Id : 813561953 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The volume of a given mass of a gas 1s directly proportional to its Kelvin temperature at
constant pressure. The above statement 15 known as

gcsiamo 36, QDS G0 (10 28 TAWY) AWE), WIDBATER0 T 38¢S [Hoav]

] (0% OG AT TS0’ GotD. P VAT 90008

Options:
Boyvle-law
eIPO A0

1. %

Vant Hoff's law

5 % Jrol) 3% oo

Charles’s Law

5 o "0~ A0¥o

Daltons law of partial pressures

o oS i HETre DodAe

Question Number : 154 Question Id : 813561954 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reversible reaction, if the concentration of reactants is increased. the equilibrium
constant of the reaction

w8 B8 (6grian) BoiS’ Satrads e MESR 2odd, DRTHD dorese

Options:
Increases

| o DODHBE
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Remains constant

DGl Sotod
2.8 %

Decreases

SO0
3. % 0

Depends on amount of reactant

AR SOir285°0 DBAIE0 BEEDEIBAD

Question Number : 155 Question Id : 813561955 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the temperature of 4 moles of a gas occupying 5 L volume at 3.32 bar?
(R =0.083 bar.L. K. mol™)

3.32 bar(er6) © HEdW acg 4 20000 T050:Y) 5 L 0RL0HD0:°80:500 380N, TR
Gal'(id od? (R = 0.083 bar. L. K~t.mol™)

Options:
1.% 2K

Question Number : 156 Question Id : 813561956 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following alkenes will yield 2-methyl propanal on reductive ozonolysis.
(addition with ozone followed by the reaction with Zn/H,0)

580D DG (LEDS Dosvdo 28R 6D Zn/H,0 &° zoddieo) &° 2-085
S DTSR S0 TVS” A D6 CTSE?

Options:

1

) ® o
wf
N

4. %

3

Question Number : 157 Question Id : 813561957 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

When 10 g of Copper and 10 g of Iodine are mixed. calculate the theoretical yield of Cul
according to the equation 2Cu + I, - 2Cul.

10 g 506 &' 10 g D00aS $958)E 2Cu + I, — 2Cul 6IahS 6] Herosiddor
od Cul 63\ 83008 ?

Options:
30g

1. %

2% 8

3‘J15g

4. % 208

Question Number : 158 Question Id : 813561958 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product of the following reaction when Xe 1s taken in excess. Xe(g) + Fy5) —?

Xe(g) + Fyg) —7 6o B6(6" Xe 0B850 S0, D6yE Gdy3) 3

Options:
- XeF,

3 @ Aoty
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4. % X€F7
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Question Number : 159 Question Id : 813561959 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In comparison to a 0.01 M solution of glucose. the depression i freezing point of a 0.01 M
MgCl, solution is (M.W. of MgCl, = 95. M.W. of glucose= 180)

0.01 M (-84 Sndnd IOy ard, 0.01 M MgCl, Trandn rdBsd goa SEVE

Options:
The same
1 % ReT® R e 2D

About twice
 AAPE Cotd G

About three times

RDBTED BIPE B
3.V .

About s1x fimes
AQTPC e300 O

4, %

(MgCl, exaerdam 95, dr&d emerdin 180)

Question Number : 160 Question Id : 813561960 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At STP. if 5.6 litres of a gas weighs 7.5 gm. then identify the gas.

STP ¢ 5.6 D8 Tat0) 7.5 rBwe erdo S8 Gofl, &8 TaWPHR WBotsed.

Options:
1.% CO

3, v N8

3. NO;

co,
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